Two Courtly Lovers
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Lesson 5 of ‘The Canterbury Tales' : The Knight's Tale
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Sentence Expansion - Write out and
expand the three sentences below

1. When Arcita sees Emily he feels ...

2. Patriarchal society is when...

3. Emily has not spoken in the tale because ...
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Challenge...

Try to answer the following question as part of
your review work on this lesson.

What do you think will happen, now that
Palamon and Arcita are both in love with Emily?
In your answer you should consider:

e The Code of Chivalry

e Their oath of loyalty to each other
e Courtly Love
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